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I 132 mwn: dispute n” regarding mon for nnmr oy
a If: they falsely testified to a debt
i »n” they receive man for violating v. 1 and they must pay as per v. 2
ii  p’pom we do not adminster man if there is financial liability (oYwny N> pR)
b If: they falsely testified to man avn
i »7 they get 80 (double man), 40 for v. 1 and 40 per v. 2
ii  p2pom they only get 40
II  Analysis:
a  1117's position is clear — v. 3 indicates ynyw7 — only one punishment per crime
b n™’s position: finding a source for man+jnn
i X9y —derived from »7 nw X%, who gets both
1 Challenge: 7"vn is a v1p
2 Defense: X9 accepts ¥™1’s position — that 1y is also a vap
ii  Note: some read 8’s inerence as being about something else:
1 V4:nmp munderstands from follow-up nwy (197wn...03010 ImIm) that there are no man since it’s WYY pnn
(a) »y~r different reason — since 1MnN Y1 is a NYYN 12 PRY IRY, no MM
(b) Inference: NV "1 maintains that there are man for a n”arw IR — source?
(i) 597DV RN - he is liable without having committed an action
1. Challenge: a »7 nw ®¥1n gets both man and pays pnn! Rather...
(if) 5" inferred from wnmt 0’1y - also N”arRw XY and they are liable
1. Challenge: Dynmt 0Ty require no NXINN
(iii) combo: y1 DW ®¥m, which requires NRINN, carries liability w/o action
(iv) Common denominator: no action, yet there is liability
1. Challenge: both 7 nw ¥ and 1"y are vIp
a. Answer: nTn "1 doesn’t accept »"1’s position re Mt 0*7Y — not VIp
2. Challenge: each of 7 nw R¥1n and 1y have a unique stringency
a. 7 ow A’y double punishment
b. ¥ no requirement of NRINN
c.  Answer: P "1 doesn’t see “common 1N T%” as a challenge
¢ Back to 1327's position — how do they interpret v. 1?
i Answer: that is the n7nR of perjury and onmir o7y
ii ~ »” warning inferred from v, 5
1 227 use that verse for the obligation of nran
2 p~rthatis inferred from 11 wnw; the last phrase is the nnmR of perjury
III 23 mwn: distribution of liability among the members of the o1y N>
a  We divide the financial liability equally , but
b Each member gets the full measure of man
i Source (for not dividing corporal punishment)
1 MIR: VV. 3,6 YVI::YWT;
(a) Just as: we cannot divide nmn (v. 6), similarly, we don’t divide man (v. 3)
2 X171 we require ont YWRI; having him get %2 man isn’t equal to the conspiracy
(a) Challenge: if so, why not say the same about money?
(i) Answer: money can accumulate (make up the full amount), unlike m>an
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